ECE 2300 – Circuit Analysis – Spring  2007,  Section #: 14700
Quiz #  3
Monday,  February  26,  2007
DO  NOT  OPEN  THIS  QUIZ  BOOKLET  UNTIL  INSTRUCTED  TO  DO  SO! 

This  quiz  has  four  pages,  including  this  page.   If  you  are  missing  any  page,  raise  your  hand.   To  complete  the  quiz  you  have  22  minutes.

Notes:

1.  Be sure that your name, ID number and the signature appear above.

2.  The quiz is closed books and notes!!!

     You may use any calculator you choose (The following items are not permitted: 

     laptop computers; connection to internet of any kind; communication devices of 

     any kind)
3.  Along with solving the problem, to receive full credit you must:

a)  Show all work needed for solution.

b)  Clearly indicate your answer (for example, by enclosing it in a box).

c)  Define all variables and parameters, and label them on the circuit diagram.

d)  Show all units explicitly, in intermediate numerical results as well as in final solutions.

e)  Use the proper notations for all quantities. 

4.  Do not use red ink.

5.  Keep in mind that most of the credit for the problem will be given for showing the correct methods or equations.
6.  This quiz has one problem, and the total number of points is 100.
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ECE 2300 — Circuit Analysis — Spring 2007, Section # 14700, Quiz # 3

Use the Node-Voltage Method to write a complete set of independent
equations that could be used te solve the circuit bellow.

Define all variables. Do not attempt to simplify the circuit. Do not attempt
to solve the equations.
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Use the Node-Voltage Method to write a complete set of independent
equations that could be used to solve the circuit bellow.

Define all variables. Do not attempt to simplify the circuit. Do not attempt
to solve the equations.
9 closed surfad for

whoy

o ' _\,\_\/ defining '
+

e s e e 3¢ e e Fe Fe e e v o Yo e e e et e e ke e 3k e Fe e e de T e e vk o e T e v e e e Fe e e Fe ok s e e e ve e v Fe I e Fe e e v v e Fe e e v T ke e e




[image: image3.png].2-

s ok s o e ok e o s s sk e e e e e e o oo 3ok ok o ok R R R e ok ook ook ok ok e ok gl 9k ok e s s s ok i ok ok ke o o e o gk o o o ok ok ok Sk ok

ECE 2300 ~ Circuit Analysis — Spring 2007, Section # 14700, Quiz # 3

e e ok sk ok e e ok ok ok s sk o s el e ok s vl ok ok e ook st ok ok ok e e ok ke ok ek e sk o e e e ke s o ok

- First (essenhal) nodes are lpcaked and named (on +he

ciranit see nodes @, ..., D).
~ Then the reference nodle is seleckd. For that purpose

the civamt Shuckire and mm/wsnéw) are tmp//jzed
Tobe ohserved that Souvas oy, sz, oby Ay, and s

dfﬁne A Super-exta node.
Then it is com'e nient (to hare simpler eguations) t7

Select as the rc renct a node o 4( s .ru/b.emﬂde
It is fe/ec#wl mml( # @ as the reference node

(cbis cenbally locaked) (see the Oler)
t WZG{ the V)ad( voltases (on the crremt

— Now are de
See +he node-voa (9e/ . . . ‘and@

—~ Now +he Node- Vol#zzje Methed eymhamnrf winhen,

Node #@ Np-te N A )
R Ry Ry

E?/uaﬁ‘ons for the su/oermf_de _Affs'r_oe:d 117 hodes
®,8,0,0,aD !

’\9,3— ’\9.{1 (2) sz - 404y (5)
(3) Mz oAy 48y 16)





[image: image4.png].3.

ok s ok i ok 3K 3 e e ok e s o ok e ok e ook ok o o ok s sk e sk e ok ok o o ok e sk ok ok ok ok ok sk ek S ek sk R R R Rk kR A

ECE 2300 — Circuit Analysis — Spring 2007, Section # 14700, Quiz # 3

E“PP/_Q.'"@’LZW—Q (o hons reguired by the Aependent sovrds
a,oj = 44 - '\92 (7J

For defoed 4 i+ must be seleckd a closed wam

that croges "4x') and also other hranches where
the current  can bhe depned.

Lookting fo the civumt, it is w/eﬁnw{ the closed
ath (wrfw) that saﬁs/zvs the abore rewremen#
(see +he closed /om‘h marked af —:— =

Then the Kcl,

/\ﬂg-’yt "'07-'\‘0‘ - '\05“1!4

-f-f(,;f =0 CQJ

—dx + 45 -

Rs Ry Ry




To the last equation (equation (8)) please add one more term (that by mistake it was left out), that describes the current flowing in resistance R6.  That term is:

    v5 – v3
-  ---------

      R6
